030373

ka1
343

WIS L=99.5n

(B S=1:250

UK (W600xHA50) =85 4m

No. 0(BP)

. No. 0+0+2, 503 (IR

n
£,

%
g <
z B
K 3
s 25
=0. 9m L=0.9m Y=1
3
|
3

B L=6. 61 BT L=16.2n
EGERG L L=6f6m $z7%RAIEHR L=16. 8n SRR =5 dn
ki 3 g q 3 o

S

SFPEHR

Om L=0. 9m W=0.
3 B

H— o5 T

No, 1+8.

HEH L=12.5n

9. 5m

&

q |z 1

éF 2 2

ABERIR LEOJon W1, In SeERIR LPJan W=0. 65m
{0 AR (=0.9n =1, 0m
3
H— Ko DR =4 I
A L4 on

NO.4+6.7
NO. 4+9.0

R /YRS

+ -

+ e

+ oo =

T ER A EE U AT T T EEE AT
s X v i v m
TV E BT AT T pon S
% Y v 7 o o o o
ARG REE
g | ROSL EAMISY H-mAE
WBKBTS (G THIFER)
BHRaS AT <Y IR
IHEER ZFEE A & LETRRE
B&Ea T@ERE
L] R 1/250 [ HEHS [ 1/16
E T
FRES EBREHLERRBC TS




VS=1:200
HS=1:250

it B X

395.000 BTER L=99.5.m

] UZIKEE (W600xHAS0) L=85. 4m

o SAEMTEIR s-1:90

385,000

No. 1438

375. 000}
vz .
—] / (o ck=18N/mm2) L
— T oY~k
(o ck=18N/mm2)
/ RERE RO-40 500
- 5! 600 15

365. 000] / 200
- | L
2 7
S ol
- T 7 z
— L o
= g
355.000)
| Bk = b W=l 0m R
- b= Wit L4t 70 BERKUIFLE $100
’u (2EHALE)
345, 000)
2 -
by
4 -
HS=1:250 1 I£1/2.25 Lo
DL=335. 000 ”:z 500m LF2. 88|

: : : : : — :
N - B g g g B s ¢ g
‘WEE‘l’E%H B ¥ 8 I H z 5 s I H ‘
; ; ; ; ; ; ey ; ;
— = s g s g B st 2 H H
‘iﬁl, it l%]‘ ‘ g g ] ] H z 5 2 8 i H ‘
A - ; — M - ; ; ; ; ey R ;
E 58 B g es ] 52 H H B B R E ] B
& %H E- B H . P BH H H H H E- - : ‘
— ; 1 — ; ; ; —— ;
— ] B g as B H B B B T 5 = ] B
‘IZ FEﬁ EE ﬁﬁ‘ ‘ s ~ - ~ o P - - - - - ~ ~ P ~ ‘
= I = ; _—
Al =4 - g . - P P -2 - - - 3 s = . s 5%
% = FE S s g = g = =g = £ = 2 = £ g = £ = E] R3=% HFHT~Y X - HH
= ‘ — — e s s ‘ WAHTS GeTwED)
i3] R - St — - : — : RS R UDLR
THEEH EWFEMA & LATHRE
[ E MR, RN
@ R ittt ‘ HEES 2/16
P
P ERRENLARRREHTE




(1) s=1:50

NO. 0+11. 255(IP. 2)
49.779
FH=349. 770

NO. 1+7. 063 (IP. 3)

g ] ] ]
L a [=3 . Bk ﬁl W25 &}u E—m £ # TR
[EE) NER |+ B - - =3 ES W<2.5 = -
= A |+ ® | 05 | 04
HREL W<1.0 0.2 0.1
avyY)— FEKL 0.1 0.1
700

A R * B
PRIE (A | /MR * B 0.5
BRi N t ® | 05 0.5

o ERL Wi<T 0 06 | 06
25— FEURL 01 | o1
DL=353. 000
DL=347. 000
o
NO. 0+2. 503 (IP. 1)
E@ | AW
=3 BE | W25 -
A NEE |+ B - o
EH NER |+ B 0.3 0.4
ERL W<t 0 01 | o1
EDZDS 10 01 | o1
700
DL=343, 000
X3 ik W25 -
A I ) -
[RIEGRAD | 1Ml | £ - 0.3
=i A |+ % | 04 | 06
700 BRL V<1 0 01 | 06
EDZDS 10 o1 [ o1
NO. 0 (BP)
DL=350. 000
©
T
S U= FRIEL 01 | o1
700
BP~1P.3
RIZE WEMTY W - HA
WHEKB TS (ETHIFER
DL=342. 000 ST U LR
THER SR & LB
BE HOE B ()
® R 5=1:50 |Eﬁ§%| 3/16
24
FREE BRRFEDLERRBHTE




(2) s=1:50

NO. 2+9. 227 (IP. 7) NO. 3+5. 089 (IP. 9)

% # £@ | AR 3
[Z3 & | W25 - 2 # ]
#RA MR | T+ B - E =3 ES W<2.5 = -
il AR |+ B | 04 | 04 #H IS ) - -
BREL W<i.0 0.1 0.1 BRI GRHD | VMR E3E) 0.5 -
EPZDES 't 1% 0.1 0.1 BRIR AR + B 0.6 0.3
£ W10 06 | 01
EDZDES T 1Y 01 | o1
700 0
DL=361. 000
DL=370.000
s
No. 2 No.3 il
GH=350. 885 61=369. 782
59. 885 FH=369. 780
)
o 900
600 °
28 00
g l
. I E §I 3 % w | &n
S z # A Z3 EL3 ] W<2.5 &—“ - :
[x3 ET3 W25 - -
Al I N pan___| s |+ B | - -
RIBGEAD | AR | + ® | 03 | 04
R GRAD | MRE | * % | 04 - (EEA GRAD |
| 3] R | £ ® | 06 | 05
(=] N |+ B | 06 | 03 R o R L
700 £ W<T0 05 | o1 TR L
EDZDES T+ 10 01 | o1 700
DL=357. 000 DL=367.000

NO. 2+9. 660 (1P. 4)

900
600 51
lsog
g J k2] # =@ A
4 § [x3 ET3 W25 - -
= A R + B - -
BRAE (RAD | VR ESR 0.3 -
BRI MRS * B 0.6 0.4
Y Wici-0 05 | o1
EDZDES 1Y 01 | o1
700
1P.4~1P. 9
RI=E HAMT Y - A
WWEKEE TS (T HFEE)
DL=354. 000
AT Y TR
IHEH SR & LB
K HhowE 2
R 5=1:50 | BEHS | 4/ 16

a4

FREG BEREBLERERCHFTE>



3 s=1:50

900
50,600 151 1l
- 3 # 6| R
3 Sl =3 BE | W25 0.1 -
EE B A S - 0.1
1 S i A | + ® | 03 | 04
BRL W<1.0 0.1 0.1
=)= FREL 01 -
700
DL=383. 000
70, oLl 3 # G| A6
NO.4+8. 146 (1P. 12) [ ETS % W2 5 - -
52,512 " A e ) - -
FH=382 510 " NO'%EP) IR EE | + » | 04 | 03
m HREL 1.0 0.1 0.1
FH=390.800 EDZDS T 1o - -
900 \ 900
600 _15¢ . 600
! aod
00,
il -
R o
B % # o]
g o E
Sl g =3 A | W25 - 2
F = A AR |+ ® | 06 | - of=
BRI R |+ B 0.6 0.3
HRL W10 0.2 0.1
S )— FRIEL 01 | o1
700 700
DL=380. 000
DL=388. 000
NO. 3+17. 790 (IP. 11)
I ]
=3 BE | W25 0.3 0.2
A ) - -
BRAR R |+ B 0.1 0.1
BRL W<1.0 0.1 0.1
avyU—FEEL 0.1 0.1
700
1P 11~EP
RIZE WEMTY W - HA
THEE BB TS (8T HIFER)
DL=376.000 BRE% AT Y LR
THER SHBH & LATRE
E3 W E Q)
® R 5=1:50 |Eﬁ§%| 5/16
2#E
FEEE ERREDRERRBEFTE>




KR TR

(

1) s=1:100

DL=340. 000

UZIskes (N600xHAS0) =85, dn
kg L=, 50 18K L=7. 3 18K L=13. 150 1Sk L1, %6 s Lo 0
mpE e A e[ RTEw
8.62 10,45
: B :
J g s o8 1] ) 5 |
g o o R 9 9 g 5 g s
E 3 3 33 4 4 r E E Gk
E ERE EE g < E E 4 43
ABERIR, L=0. 9 WH. In
T 09
g g
v 363 607 v 363 600
™
g Z g
SBERER L=0. gn W=0. 9m 2 362,601 o 365,20
95 363,000
4 4
E
g =
v 350,885
BERAR L=0.9p W1, On Lo
g| v 365, 595 .
3
E ! EaL¥
2 V_356.550
T2 BRAR |=0.gh 0. 9m V355,280
5 v 351,021 364 205 v 355,200
E v 350 683 v
3 o v 354, 604
a3 v 352,771
= =
g <
T
_V_346.730 v Tl
v 349,610
: v 349,250
V346,065
v 345 630

B IORTHES, SEKSNE -She TRERRERR TSI L.

R3=% HFFHT Y B - HH
WWEKER TS (T HFHEE)

BHRE% AT Y TR
IHEER ZHBRH & LETRE

K JKERTREAR (1)

R BF [ HEHS [ 6/ 16
a4
FREE EEREDLEREREFTE




UK (W600xHA50) =85 4m

KR TR

(2)

$=1:100

157Ke% L=14.88m

457)

15KES L=12. 66m

R T R

157K L=11.40m

4.96

4.91

NO. 2+8. 73
NO. 2+9. 23

=

DL=355. 000

NO. 2+15.039 (IP. 8)

NO.3

v 373,013

NO. 3+4.11
NO. 3+4.76
NO_3+513

56 L0 §
LA L

NO. 3+d 11
NO. 3+4.76

=0 65m
lom H=1. om

E|

v 372.360

v 312.250

N0.3+10.0

NO.3+17, 790 (IP. 1)

v 3718.616

9.55

NO. 4+8. 146 (IP. 12)

N0.4+10.0

NO. 4+19 547 (EP)

B TR T M.

FEKBNEICEDE TRERRERRT S L.

R3=% HFHT~Y X - HH
WWEKER TS (T HFHEE)

BRE% AT Y TR
IHEER ZHBRH & LETRE

K JKERTREAR (2)

R BF [ HEHS [ 1/16
a4

FREE

BERENEEREBEFTE



KR T

= : 3 N
157K s=1:20 FERADTYU—b s=1:20
5 A X
“ R X FREXME
= =
o ck=18N/m2 5, 6w 150
10.0m%4 )
2 Wom el w ® 20 W
avhy—t o ok=18N/mm2 3 2.70 sagass b T Uk
e FEa sy
gl J By —HRE R n2 24.00 o ck=18N/mm: “ock=18N/m2 |
g HERE RC-40 m | 160
E| “ BEERYTFLLUE | 6100 @BHAE n | 1000
Wik — b W=1. Om m 20.00 % §I§
Rt LA 2| 3w
AKiE b, vs—nom n | 10
i ERGME. tom |2 | 02 EERE RCA0 RiE RC-A0
REET 2| 1.0
300
BT | 250 |

KEBT

BRYERRLEMR s=1:30 H— RS THE - #E s=1:50

fmE B T [

5% Rhi &R

D16 L=1500.(1100; 1000 1000
E E E

1100

1500(1100)
5
500
1500
500
g‘

500(100).
500

Jo—

T

(D16 650
10.0m4 Y *
- = 1hyamMiEE, SBRREAEZET 2BE0aVs )~
l 2 [ now  Jeslw = | “RESUNER AR
P [ soass 16 [ ke | ssup | 2@AnEERwEERKRC S > CEEZET 5T LBAL LTI

AV Y— ML IMBEEFTIE,

DL=353. 000

RIEHER
il I T
Bes RS R UBILES
IHRER EWFEMA & LATHRE
FEE ABTHEm@E (1)
L] R BR [ HEHES [ 8 /16
2z
FREE ERRENLARRRCHTE




25 KRR, 1S RRhREEHE

900

RIEE s=1:20
1S EEAR W=0. 90m
3 & L. DI3 ¢ to ¢ 300
g El
V_346. 730 Loib ks D13 ¢ to ¢ 300
L2000 EPZDETY
o ck=18N/mm2
g L
[ [ [
J g
E m/
P
g
87 V_346. 065
V_345, 630
25 kE 1=0. 90m
TEER s=1:2
1S ERRR W=0. 90m
g
g T g
257k L=0. 90m

900

IKER TEEAEE (2)

$=1:20

600

25 KB

950
1100

1300

SHEEE RC-40

(2AHAE)

KB

D13 L=770 N=b

15 RARE 5
FEE s-1:20 BRER s-1:20

900

5

85 26200=400 | 185

185
185

DI3 L=770

B L

185 | 28200600
185 | 28200=400

DI3 L=770 N=54

1770

EIERHEE
IEE

R3=% HFHT~Y X - HH
WWEKER TS (5T HFHEE)

BRE%

FAEMT <Y PILRIE

IHEER

ZHEBEH & LA

BE 4

K BT OHMEE(2)

#® R

BF [ EEES [ 9/16

*HE

FREG

BERENLCEREBEFTE



JKE& T EE4H

22
=]
BIER s=1:20 (1-1) s=1:20
1
! 900 900
190, 200, 200 , 190 600 5
Ol 19964
Di3 @m
D13 013
= = = | =
= i< 3 BT —
g 8 9 g g g
g 5 i
d 3 = 9 B
E| g - g g D13 013 g g
| = LA
s g
g 3 El g
J g
= = L L
o —
Q ) i3 =
@m @mz
190 200 | 200 | 19 200 | 300 | 240
900 900
I,
$=1:20
900
190, 200, 200 , 190
D13
gl
i =
g &
@ma
190 200 | 200 | 190

581~958

EMT

7l
g @
780
793
@ 5-D13 X 2280 (FH9K) @ 4013 X 870 @ 6-D13 X 780
Aok =
S5 Hh B =5 (SD345)
By | & | & s |Awm| memrs |-Asums = s =
Wi D13 2280 5 0.995 2.21 11 u (E#R)
W D13 870 0.995 0.87 3 ~
W2 D13 780 6 0.995 0.78 5
W D13 630 2 0.995 0.63 1
20
& & D13 20 kg
BHEE 20 kg

621

@ 2-D13 X 630

RIEHER
il I T
Bes RS R UBILES
IHRER EWFEMA & LATHRE
FEE ABTHE@E(3)
" R B [ HEHES [ 10 /16
2z
FREE ERRENLARRRCHTE




fim

$=1

IS FRRR W=0. 9m

JKE& T EE4H

(4)

35 KRR, 3 ERhREEHE

120

NO. 1+4. 40

v 355.595

NO. 1+5.30

L ik D13 ¢ to ¢ 300

E L[
[ [ [
//
o
] 7/ ]
L1 2
8
3
V_354. 604
V354,295

35 7k#% L=0.90m

TEE s=1

3SERHR 1=0. 9n

120

900

150,

600

150

900

35 7kEE L=0. 90m

8=1:20
900
600 5
XLk DI3 ¢ to ¢ 300 1=200
EPL D] ISERHR
0 ok=18N/mn2 389

1150
1300

1500

HEEE RO-40

(2AHAE)

R3=% HFHT~Y X - HH
WWEKER TS (5T HFHEE)

FAEMT <Y PILRIE

ZHEBEH & LA

K BT M MEE (4)

BF [ RE#ES [ 1/16

= e 15
35 BRhREC 5
IEm $=1:20 $=1:20
900 150,
185 , 26200400 _ 185 oa L
= AEHE g = D13 =770 §
7i0 1 E a4 F E
D13 =770 Nz g & g
D13 L=770 M=
110
I T
IH%
BRE%
IHEER
K
#® R
=i A

FREE

BERENLCEREBEFTE



D13

RIEB s=1:20

i

190,

@ D13

150,

JKER TEEAEE (5)

1300

1150

3x300=900

150,

@DH

840

D13

190,

190,

900

150,

600

240

300

150

240

900

190,

@ma

35
(1-1) s=1:20
900
ﬁ 600 15
D13 DI3
] e
g ‘ | g
1 193 I T] g158
E E
E . bt E
‘_‘g ®D13
VNV @
240 300 240
900

897~1166

897~1166

793

( ) 5-D13 X 2800 (F#9K)

$BAIMIR

815

/

@ 4-D13 X 830

@ 8-D13 X 780

B 23 (SD345)

i 5 & & & X #® BERE | —ALYEE o=
Wi D13 2800 5| 0.995 2.79 14 (FH9R)
w2 D13 830 4| 0.995 0.83 3
Ws D13 780 8| 0.995 0.78 6
23
& & DI3 23 ke
REE 23 kg

EHEBHEE

g | ROSE WREISY W-mR
WISKBTS (HTHIFEL

BRE% TRT A Y LR
T =B LA
BE s kBT HEE(5)
L R BF [ EEES [ 12 /16
EEIE

FREG

BERENLCEREBEFTE



KR TEFHAR (6)

45 KEE. SSIRMREHHER 5% FRhREC A7

BIER s=1:20 §=1:20 $=1:20
55 FRHE -0, 65m 900 650 150,
%0, " 160,200 _ 160, hog |
g % L DI3 ¢ to ¢ 300 1=200
E <
v o013 L DI3 ¢ to ¢ 300 L=200 auny—t 1=

0 ok=18/m2 38k E E
KBRS E E DI3 =770 §|
J p &
2 } ‘f } DI3 L=770 etk § 2 § §

950
763
950

1100
1100

1300

150

/ DI3 L=520 N=bz
520

8l

150\

v 312.250

HEEE RO-40

v 371.913 48K 1=0. 65m

(2AHAE)

FEE s=1:20

SEEEER W=0. 651

150,

900
600

150

900

A5 KEE L=0. 65m

RIEHER
il I T
Bes RS R UBILES
IHRER EWFEMA & LATHRE
FEE ABTHE@E (6)
" R B [ HEHES [ 13/ 16
2z
FREE ERRENLARRRCHTE




JKER TEEAEE (7)

4=

$BAIMIR

RIEB s=1:20 (1-1) s=1:20

.

150

1100
950

150,

200

! 650 900 b 3
3 I3
165,200 165, 150 600 5 Sl 2l
3
pRittl 1964 530
D13 C)mz a”/’/’ —_—
D13 Di3 793
@ 8-D13 X 530
@ 4-D13 X 2370 (FH9 ) @ 4013 X 600
o E o M9 | E
K 3 K ) U 3
g g 3 4 g g
g o I b1 o
8 g g E 8 E
4 ™ [—F pr——
o 1 i* — o 3 o £ A5 B 25k (SD345)
= 3 Ea e Wy | = B & |Aw| woms |—AuyHE| % B W
W D13 2370 4 0.995 2.36 9 u (E#R)
g g|
4 ~ W2 D13 600 4 0.995 0.60 2 -~
\ \ \ @ s D13 530 8] 00995 0.53 4
D13

© :
D13

165 200 | 165
900 & & D13 15 kg
650
®EE 15 ke

$=1:20

650

165,200, 165

D13 @ D13

150,

15090

240

900
600
300

300
900

240

150

165 200 | 165

650

RIEHER
il I T
Bes FRRTRBI LR
IHRER EWFEMA & LATHRE
FEE ABTHEm@E (1)
" R B [ HEHES [ 14 /16
2z
FREE ERRENLARRRCHTE




JKER TEEAEE (8)

A4S RIREFHER 45 BRAREC AR

RIEB s=1:20 $=1:20 Tm| BRER s=1:20
1100 900 1100 150,
2| b<| 185 3200=600 185 {og
3 g
Rk D13 ¢ to o 300 L=200 E g ZLksh ki D13 ¢ to ¢ 300 L=200
v 363, 607 it v 363600 EER
o ck=18N/mm2 R o ck=18N/mm2
HEFa o=t #EFfays)—t x| D13 L=770 2|
o ck=18N/mm2 o ck=18N/m2 3 3
d 3 E d =i =
2 2 = S 4
- y E E :
013 L=770 N6k g ® g
g El g 5
S8 g E
4 18KE = 600 i
g 2 g
= D13 L=970 N=5f&
P v 363.000 = 970
=
\ U F/ S
V_362. 607
$=1:20
1100
EN H
BRER T THRET =130
3
S @E
2 g 1=k gl g
—— 600 500
E
WL
8 s 8
g g g
=
25 FRAREC AR # %:7
mEas s b
A=0. 12m2
FEER s-1:20 BREE s=1:20
EDPDENS T
A=0. 04m2
1000 150, ¥ BELTRETHETHS.
BIOBRKI & YBEERT 52 &,
135, 36200-600 135 log |
1.0WRSY
4 W |m| wme
avyy—+hk ock=18N/m2 | m3 0.060
| D13 L=770 |
e g B N m2 0.740
KA g " g SUpy— FRKL | R 3 0.020 RIS HE
. g § = b g g R3=t FAEMT Y H - A
DI3 L=770 ek § & § s WAKESTH (3 TBIHER)
E E BRAS TS Y WAL
THEH S & LBTERR
X P KB IHEE(8)
D13 L=870 Nd5:
£ L] R BR [ EEES [ 15/ 16
870
2 a
FREE ERREIEERRRE TS




REERHAE

=

$=1:50

ST 1=16.20
1.3 4.0 1.1 8.6 1.2
HREH L=2.3n
E
g of 1.4 0.9
o o g o &
4 3 3 v 31,931 7 E o
E o o 3 B v 377610 —
E E E E € E o
~ E o
E 3 E
E < <
V384,120
v 383508
&
v 382,63 7
2|
hea
AT L=6.6n
Vv 373,295
6.4
g
3 gl P
i |z
d d |s
7 wasean | | 235650 Y7070,
v 369.307
A
v 354171 - -~
E B E $=1:20
|
E HE
AT L=4.0n /Q%
0.6 3.4 n -~
VP 65 —
| o
4 3§ 3 N
A 1=12.5n 3 9 4
- - —— 300+300+30
j
z é v 371.220
z N v asea | [T V366403
E E el
5
& E
o
V_353.870
RIZE HEMTY W - HA
THEE LBKBTH (T HIFEL)
BRE% ST U LR
I ;i = 33
S A S5 & LATIRE
E3 HERRBE
§: # R R [ HEHS 16 /16
2#E
FRES ERREDRERRBEHTE>




